Sl

SILTER ST/B-111

PARTS LIST

Address: str. Teatralnaya 2 / 202A,
Dnipro, UKRAINE

Website: www.Overlock.com.ua
Phone: 0800 210 034

Mail: brother1034@ukr.net

ATTENTION !
QUOTE " DRW.NAME " AND " REV.NO " WHEN ORDERING

NO ITEM QTY NO ITEM QTY
o s 01 ALUMINIUM SOLE-PLATE STB 111 1 21 CABLE SLIT 1
%@ 8 % 02 ALUMINIUM INJECTION HEATING ELEMENT 1 22 CABLE FOR IRON 3x1 TEXTILE BRAIDED 1
ﬂ% E 03 M6 NUTS (2 PCS) 4 23 PLASTIC CABLE CLAMP FOR IRON 1
= 04 CONNECTOR WITH ANGLE IRON 1 24 LID OF REAR COVER 1
W i | 05 TEMPERATURE FUSE 1 25 M4 SCREW FOR REAR COVER 1
g é B ; E( 06 SHEET METAL 2 26 M4 WASHER FOR REAR COVER 1
| i 2 % 07 BIMETAL ADJUSTABLE THERMOSTAT 1 27 14 NUT FOR THE SCEW OF REAR COVER 1
¢ o| 08 WASHER FOR ELEVATING ELEMENT 1 28 HOUSING FOR THE SCREW OF REAR COVER 1
g g 09 M4 NUT 1 29 HOUSING FOR THE SCREW OF REAR COVER 1
=] 10 CABLE 1 33 THERMOSTAT KNOB 1
o Z) (BETWEEN THERMOSTAT AND CONNECTOR)
% ; : 1 E:QEB]%IEVEEN THE FUSE AND CONNECTOR) 1 34 WIRE HOSE CLAMP 1
N % 12 E:;EB;IEVEEN ELEMENT AND FUSE) 1 36 . 2
- ; 13 ?QSI\:\E\IEEN THERMOSTAT AND THE ELEMENT) L 37 SCREW 2
- %( E - 15 SILICONE HOSE 1 38 PTFE WASHER 2
2Rl B L | 16 IRON COVER 1 39 M4 NUT 1
é § % % % g g 17 COMPLETE IRON HANDLE 1
- =4 18 CONTROL LABEL 1
HEEEEEYE 19 SILICONE HOUSING 2




SILEIER

SILTER ST/B-200 / ST/B-200 H / ST/B-250

PARTS LIST

Address: str. Teatralnaya 2 / 202A,
Dnipro, UKRAINE

Website: www.Overlock.com.ua
Phone: 0800 210 034

Mail: brother1034@ukr.net



